
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 3rd Week, 2nd Day Exercise 1.16 Q # (1 to 5)

 Answer the following questions:  
Q.1. Find the amount of Zakat on 15 tola gold if value of 1 tola gold is Rs.

130,000.     (1x2=2)

 130,000  1  15

Q.2. Raheel paid Zakat worth Rs. 47000 on gold and his savings. Find the

price of gold if his savings is Rs. 1,000,000.     (1x3=3)

1,000,000   47000 


Q.3. Find the amount of Zakat on 80 tola silver if the value of 1 tola silver is

Rs. 1500.      (1x2=2)

 1500  1  80

Q.4. Find the amount of Zakat on total of 9 tola and 50 tola silver if the

values of 1 tola gold and 1 tola silver are Rs. 130,000 and 1500

respectively.       (1x3=3)

 130,000  50  9

 1500
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